EARAROBEEIERT — 2 N— IBISH —F 20195 7H8H (A) 3mEEF3H

m C2—# ¥R (xwlw | mEmml - v 5 o 8
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> Rl &Rt 1:26.7 4-4 7. — 1 | fE# AR (KiR)
1 WM a| 7 TTN— "9 %o 2 o8 M AR RS
Y%7 /\7//#— B:a-7Y314F— EVFAT =L
ROB— 1:26. 1-1 . — 2 4 HEEE (KR)
2 gl ¥FIYIAY— "6 (ﬁf #3 (i EBEh
LT RIAYL—> BT AL KAy T HEsze
N Sy e HER . - — iR (&)
21 3 E3RA NV RYA 4 6 o 1.(227>.2 3-3 38.4 1 (4;0) AL
R:TS5v 84K B:UI v1—0 FEHIS
= LLAEA R ; - - ERR (KR)
N > DR R i 5 o 1.(217).4 5-5 37.8 5 (419) ‘.%h%—a i
R:F4—TZHA B:YIIER el=bie)
P A — ft 5 | WABER 1:27.7 2-2 39.0| — 6 460 | /IVHRFEER (KIR)
51717 |77X—% 54.0 @ (-) | FESMER
LY IRG4 TR B dr—L (B) tEa-KRL—-—a>BEI7
S . /J\M:i 1:27. 7-7 7.7 — 7 44 #HEEE (KR)
6155 TVF> vk I 56.0 (1)9 s (66) KEEET
R:ARTA MR B:avxTIOH ST —
: _ _ 4 6 | BIAXE 1:28.1 6-6 38.5| — 8 487 | BEILET] (BEFE)
71111 €E98=91F 56.0 (3/4) o |FER
LT TIAL R BRATFATE—U > ELE3:}
. i~ = EATE : - — AEEE (BRE)
8 6| TINFI—F47 i 5 o 1.(228).4 8-8 37.6 4 zzé)e e
R:ZRFAd=I K B:hIH-IWIR IS HEI77— L4

@ 11— —@EBIEf

1 S=7r=

23— —

J=zr= 8,7,3,4,2,1,5,6

43 —F— 8,7,3,4,2,1,5,6

o LRE

BB 4 590 794K 4-8 240 5= 4-8 900MH BER 3-4-8 420M

7 B 4 140M 3-4 200 BB 4-8 2,110M HEH 4-8-3 5,330
8 120M 3-8 180
3 110H

ABTICOVTRDTEEERROODE, JHB LS,



